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QUESTION 1

Which of the following statements best defines S-TMSI? 

A. A permanent, unique identification of a mobile subscriber in the GSM/UMTS/EPS system. 

B. A network that provides mobile communication services to the public. 

C. A globally unique temporary mobile identifier used to hide the subscriber\\'s real permanent identity. 

D. An identifier assigned by the MME that uniquely identifies a UE within an MME pool. 

Correct Answer: C 

 

QUESTION 2

Which of the following regarding an EPS dedicated bearer is FALSE? 

A. It can be a GBR bearer. 

B. It can be a non-GBR bearer. 

C. MME obtains the dedicated bearer QoS parameters from HSS. 

D. MME sends the dedicated bearer QoS parameters to eNodeB. 

Correct Answer: D 

Reference: https://www.sciencedirect.com/topics/computer-science/dedicated-bearer 

 

QUESTION 3

Which of the following is NOT a characteristic of the home routed roaming architecture? 

A. Bearer traffic is routed from the SGW to the PGW over the S5 interface 

B. The UE bearers are anchored at the SGW to the VPLMN 

C. Subscriber services are obtained through the HPLMN 

D. The MME in the VPLMN has an S6a interface to the HSS in the HPLMN 

Correct Answer: A 

 

QUESTION 4

Given the exhibit, the MME is unable to retrieve authentication vector (AV) from the HSS and the initial UE attach fails. 

Which of the following actions is useful for troubleshooting this problem? 
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A. Verify if the IMSI to HSS mapping list is configured properly. 

B. Verify if a GTP profile is associated with the S6a interface. 

C. Verify if the TAI value matches between the MME and the HSS. 

D. Verify if the DNS server is provisioned to dynamically discover the HSS IP address. 

Correct Answer: D 

 

QUESTION 5

Which of the following statements about MME load re-balancing is TRUE? 

A. eNodeB selects an MME according to weight factors received from the MMEs in its serving pool. 

B. eNodeB selects an MME with the lowest order value in the DNS NAPTR record. 

C. MME is configured to offload some registered UEs to another MME in a different MME pool area. 

D. Affected UEs are signaled to release their S1 and RRC connections. 

Correct Answer: D 

Reference: https://community.cisco.com/t5/service-providers-documents/load-balancing-and-re-balancingof-mme-and-
offloading-process/ta-p/3140328 
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